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It is mandatory to attempt all the questions.

Write down the answers at the appropriate places provided.
This question paper contains 13 Pages.

Marks are indicated against each question.

The model question paper should be used by the students
for written examination practice.

U - 01. Tl vy AR (V) FIg SR - 10 x 2 =20
Question — 01. Put (v') mark against the correct option — 10x2 =20
1. | - wue ad A E 2

Which of the following statement is not correct ?

(31)  SThd AT 1 9 IR &l 21

The natural numbers start from 1.

(3M)  qU ST 0 | TR Bl 21

The whole number starts from 0.

(@) 0 U1 T & W] Thd ST R £ |
0 is a whole number but not a natural number.
@) i T S, qu1 d@e A2 &l E |

All natural numbers are not whole numbers.

HEAT 48 Tl GUId: FenaiisTd el & e | GEl fohcd 1 =9 w1

Choose the correct option for dividing the number 48 completely.

(@) 48, 4 | qUia: friord & ueg 12 @ =&
48 is exactly divisible by 4 but not by 12.

(M) 48 Haws 12 A &1 guid: forioTa g 2 |
48 is exactly divisible by 12 only.
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(3) 48,4 T 12 i € qUTA: FpTIRIA & |
48 is exactly divisible by both 4 and 12

(é) 48%84@@@??—[: i g |
48 is exactly divisible by 12 only.

3. ‘BODMAS’ % &g H H1-1 Fo W& 2 ?

Which statement is correct with respect to ' BODMAS"

(3) ‘BODMAS’ % [EHIIHR Qa9 HISF &l & fhd1 STan 2|

(A) According to the rule of BODMAS' the bracket should be solved first.

(3M) ‘BODMAS’ & fEHHR W & 18I0 {3 SR & S 21

(B) The process of multiplication is done after division, as per the rule of
BODMAS.

(3 < (30) W (=)
(C) Both (A) and (B)

3) ‘BODMAS’ % Fawar I % e Iur foh Sk {6 S 21
(D) The process of multiplication is done after addition, as per the rule of
BODMAS.

4, ‘RIS qEOT G H AL -
The meaning of sutra 'Ekadhiken Purvena' -
() 99 % (g HI Tk AR F00
Adding one more to the previous digit
(I) =i (I) W& (11I) / Both (I) and (III))
(III) W 3Tfe FEATI / Adding one more
(IV) =8 @ FE & / None of these
5. G (5)8 / Five (5)is —

(I) o g& (1) 9ot G
Natural Number Whole Number

(1) @|gEn (1) =i () 9 (10)
Even Number Both (I) and (II)
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6. fmHaTR TR TR ?
Which of the following statement is not correct ?

= e

() e BRI & i o SER &l 8, IH SR B FEd &
A triangle whose all three sides are equal is called a right-angled
triangle.

() T RIS 1 31 3T IR Sl &, 6 THigaTg PRis Fd 2|
A triangle whose two sides are equal is called an isosceles triangle.

(3) T RIS i Al e SR 72 &1 &, 9 foreag PRgst Fed 2
A triangle whose all three sides are not equal is called an scalene
triangle.

@) o Brist 3 4 o U S 2, 39 GRaTg B FEa B
A triangle whose all three sides are equal is called an equilateral
triangle.

7. 6 S A i S H R &9 E0T-
The expanded form of the number one hundred six decimal five will be -
(3  106.05=100 + 10 + 6 + 1—10+5

(3 106.05=100 + 00 + 6 + —

@) 1065=100 + 10 + 6 + %
(é) 94 AR5 7=/l / None of these
8. fmUdFmFFTEE?
Which of the following statement is correct ?
() 10 %9 T 4 ¥ 1 GG, 5: 4 2
The ratio of 10 pens and 4 pencils is 5 : 4. is.
(M 10:4 = 5:2

@) fged @23 =33

Vinculum number 23 = 33

3) 102=50+8+44
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10.

fol § @ Fl9-91 F99 Tel -

Which of the following statement is correct -

(%)
(A)

(3T
(B)

(®)
©)

3)

T & T U -ER i Ticwde, FA €, a9 Tfcresg) W e wEerd
When two lines intersect each other, then they are not called

intersecting lines.

S 2 T UE-7E ] Afwde Ael F &, 9 F THIR @ FESTd £

When two lines do not intersect each other, then they are called
parallel lines.

aaq\r\ W@_@iqﬁ' o ﬂ%laaa_ o \a\ % ﬂ%l

When two lines intersect each other, then they are called intersecting

lines.

SEICURCHEY

(D) Both (a) and (e)

e & greg ° @e faehed &1 =999 T-

Select the correct option with respect to the fraction -

(%)

(3T

®)

3)

ferem Fovet & ot BieT T & et &l |

In improper fraction the numerator is small and the denominator is
large.

fifsra fir, o ot e ot forem v & e aerett 21

A mixed fraction is made up of a whole number and an improper
fraction.

ferfra firet, o qu1 S v o firel @ e F9di 2|

A mixed fraction is made up of a whole number and an even fraction.
o foet H st ot O & Bie &l 2

In even fraction the numerator is large and the denomination is small.
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yA-02.  fefosRad IRl R R FIT - /Consider the following pairs - 5 x 2 = 10

1. dgx/ Circle .

2. el / Square d.

3. %% / Cone g ( O

4. <A/ Cylinder .

5. =AM / Cuboid =3 F—

E=——

9 - 03. R-ei € 9fd AT - / Fill in the blanks 5x2=10
1. 10T = &N |

10 million = .................. thousands.
2. TRl A Al 10 &, a1 3 HEWF oo g |

If the sum of any two numbers is 10, then they are .............. of each other.
3. THOHRUEAN............. |l

Measure of straight angle is ...................
4. N F IR RERS ............ TER FEd 2 |

On the basis of angles, triangles are of .................. types
5. aEH . Y &I &

There are .................. vertices in a triangle
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5 - 04. ot R urell & e o1ec 1 = iR - 5x1=5
Select the true or false of the following statement -

1. 5 %I qaadt @& 7 B
The preceding number of 5 is '7".
2. I, GAF GecHT U d ST BT 8 |
Zero is greater than every positive integer.
3. 12127 =12.176
4. OF GO FH S O FEA L |
A right angle is also called a straight angle.
5. Scdh Y qUTT, SROT JUTTE § BT 8T8 |
Every positive integer is smaller than the negative integer.

9% - 05. Al Eﬁﬁlﬁ'ﬂ 99 / Very Short Answer Questions — 10x2=20

1. & &N (BODMAS & {«7@9 &1 @R &) /Solve (Using BODMAS Rule) -
(-7)x (-5) + 12

N NIl N

2. 124 Q3% TBS F i HANTT qU1 Heand fefaa |

Write three consecutive whole numbers just before 124.
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3. 144, 192 T FLAH GHTIETH fSRaT |
Write the least common factor of 144, 192.

XU NI N

4. 4,453,125 T AL TEd 9 ) H (SR, |

Write the number 4,453,125 in words using the International System.

5. [OHoH GE&AT 542 Hi G 9@ H agioT |

Convert Vinkulam number 542 to general number.
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6. 45 ﬁqa?:, T G FHT HiA @1 A=l 2 | / 45 minutes is what fraction of an hour.

7. & ®/Solve-

8. & ®/Solve -

9.3
- 4.412

71.225
+ 03.120

4 T 9+ HS 1 0ed 120 ®. &, A1 180 &. H fhcl ot Ufedes @Ric] ST @ehcll 8 2

4 dozen pencils cost 120 Rupee, then how many dozen pencils can be

bought in 180 Rupee?
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10.  3FF 4 Q@ Tt & =EH foRaq |

Write the rules of divisibility by the number 4.

9 - 06. ST 9%/ Short Answer Questions— 5x3=15

1. 144 & 180 &I A&<H THIIESH STd HIeT |
Find the greatest common factor of 144 and 180.

)

2. RS e TR Y= i T HT I 4 : 3 & Sl &1 g H1 911 70 &, 7 e v g & *1g
EISEAS R
If the ratio of the ages of father and son is 4:3, and the sum of the ages of
both is 70, then find the ages of father and son.
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3. SHHIM STl & Tfead s Tk 3¢ Tl fos@ehl Tgel 1 T
Explain the quadrilateral by writing one of the Veda mantras related to the

geometric figure.

i« o< 791 /Related Veda Mantra

4. T AATEA H RS i T fSRaT |

Write down any three differences between a square and a cube.
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5. #is U 9¢ A foRaq, fas S &1 9 gan al ?

Write a Veda mantra in which there is a sense of number.

U - 07. 46 ST U / Long Answer Type Questions — 4x5=20

1. PRI @ ST 1 G &, S Tl ) SHEEd |

What do you understand by Triangle. Explain its classification.
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2. &3 % (BODMASEH ) / Solve (Using BODMAS rule) —

50-3x24+8

3. el {68 wed &, il & fha SR Eld B

What is a fraction? How many types of fractions are there?

12
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4. TEforiia ol @ TEfead RIS O 92 A [ [« STEHfadl & e a95T —
Write one of the Veda mantras related to the two-dimensional shape and

make pictures of the following shapes:
i) e/ Triangle (ii) TFd/Rectangle
(iii) dgx/Circle (iv) W=Id/Hexagon

graread € 991/ Related Veda Mantra
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